

OKE-OLD TIMOTHY
19/EN/06/045
Mechanical

$$1) x - y - 14 = 0$$

$$x^2 + y^2 - 6x + 8y = 0$$

$$x = y + 14$$

$$(y + 14)^2 + y^2 - 6x + 8y = 0$$

$$y^2 + 28y + 196 + y^2 + y^2 - 6x \cdot (y + 14) + 8y = 0$$

$$2y^2 + 36y + 196 - 6y - 84 = 0$$

$$2y^2 + 30y + 112 = 0$$

$$y^2 + 15y + 56 = 0$$

$$y^2 + 7y + 8y + 56 = 0$$

$$y(y + 7) + 8(y + 7) = 0$$

$$(y + 7)(y + 8) = 0$$

$$y = -7 \text{ or } -8$$

$$x = y + 14$$

$$x = -7 + 14 \text{ or } x = -8 + 14$$

$$x = 7 \quad \cdot \quad x = 6$$

Hence the point of intersection are

$(7, -7)$ and $(6, -8)$

$$3) x - 5y - 2 = 0$$

$$x^2 + 25y^2 - 6xy - 16 = 0$$

$$x = 2 + 5y$$

$$(2 + 5y)^2 + 25y^2 - 6y(2 + 5y) - 16 = 0$$

$$4 + 20y + 25y^2 + 25y^2 - 12y - 30y^2 - 16 = 0$$

$$20y^2 + 8y - 12 = 0$$

$$5y^2 + 2y - 3 = 0$$

$$5y^2 + 5y - 3y - 3 = 0$$

$$5y(y + 1) - 3(y + 1) = 0$$

$$(5y - 3)(y + 1) = 0$$

$$5y - 3 = 0 \quad \text{or} \quad y + 1 = 0$$

$$y = 3/5 \quad \text{or} \quad y = -1$$

$$x = 2 + 5y$$

$$x = 2 + 5\left(\frac{3}{5}\right) \quad \text{or} \quad x = 2 + 5(-1)$$

$$x = 2 + 3 \quad \text{or} \quad x = 2 - 5$$

$$x = 5 \quad \text{or} \quad x = -3$$

Points of Intersection are $(5, \frac{3}{5})$ and $(-3, -$